

## **Claim for Block Incentive Payments 2019-20**

Block incentive payments are payments for midwifery services, over and above any course of care payments that may have been made to you by the MPG. Block incentive payments are top-up clinical care payments made to the locum midwife where there have been fewer than four births during the locum period.

Block incentive payments are \$200 for each day of midwifery services provided, up to a maximum--between these payments and the course of care payments--of what a midwife would earn if they were working full-time in a regular practice situation (i.e., 4 BCCs every 4 weeks, minus operating and second fees).

The charts attached show how block incentive payments are calculated, depending on the number of course of care payments made by the practice group and the fee level of the locum midwife.

Please fill out this form and return to the AOM by email, mail or fax to Diana MacNab, Manager, Membership Services: <a href="mailto:diana.macnab@aom.on.ca">diana.macnab@aom.on.ca</a>, Association of Ontario Midwives, 365 Bloor St. E., Suite 800, Toronto, ON M4W 3L4; FAX: 416-425-6905.

| Name of Locum Midwife:                                       | <br>     |
|--|----------|
| Fee Level of Locum Midwife:                                  |          |
| Name of Practice Group:                                      | <br>     |
| Start and end date of Locum:                                 | <br>     |
| # of course of care payments received from practice group:   |          |
| Block Incentive Payment Due (use charts below to calculate): |          |
|  |          |
| Locum Midwife Signature                                      | <br>Date |
|  |          |
|  | <br>     |
| Practice Partner Signature                                   | Date     |



These are the calculations for a 14 day locum. If no births are attended, the midwife will be paid \$200/day up to a maximum of \$2800.

| Number    |       | Locum CC fee paid by MPG (BCC                  | Locum block           | Total earnings for Locum |
|-----------|-------|--|-----------------------|--------------------------|
| of births | level | minus 2 <sup>nd</sup> fee and operational fee) | incentive fee paid by | Midwife (LCC+LBI)        |
|           |       | "LCC"  | AOM " <b>LBI</b> "    |                          |
| 1         | 2     | 2901 - (214+744) = 1943                        | 1943                  | 3886                     |
| 1         | 3     | 3010 - (214+744) = 2052                        | 2052                  | 4104                     |
| 1         | 4     | 3121 - (214+744) = 2163                        | 2163                  | 4326                     |
| 1         | 5     | 3231 - (214+744) = 2273                        | 2273                  | 4546                     |
| 1         | 6     | 3417 - (214+744) = 2459                        | 2459                  | 4918                     |
|           |       |  |                       |                          |
| 2         | 2     | 3886 (LCC x 2)                                 | 0                     | 3886                     |
| 2         | 3     | 4104   | 0                     | 4104                     |
| 2         | 4     | 4326   | 0                     | 4326                     |
| 2         | 5     | 4546   | 0                     | 4546                     |
| 2         | 6     | 4918   | 0                     | 4918                     |



These are the calculations for a locum that is less than 14 days. If the locum midwife does not attend any births, they will receive \$200/day.

| Number    | Fee   | Locum CC fee paid by MPG (BCC                  | Locum block incentive fee paid by |
|-----------|-------|--|-----------------------------------|
| of births | level | minus 2 <sup>nd</sup> fee and operational fee) | AOM " <b>LBI</b> " per day        |
|           |       | "LCC"  |                                   |
| 1         | 2     | 2901 - (214+744) = 1943                        | 1943/14 = 138.79                  |
| 1         | 3     | 3010 - (214+744) = 2052                        | 2052/14 = 146.57                  |
| 1         | 4     | 3121 - (214+744) = 2163                        | 2163/14 = 154.50                  |
| 1         | 5     | 3231 - (214+744) = 2273                        | 2273/14 = 162.36                  |
| 1         | 6     | 3417 - (214+744) = 2459                        | 2459/14 = 175.64                  |
|           |       |  |                                   |
| 2         | 2     | 3886 (LCC x 2)                                 | 0                                 |
| 2         | 3     | 4104   | 0                                 |
| 2         | 4     | 4326   | 0                                 |
| 2         | 5     | 4546   | 0                                 |
| 2         | 6     | 4918   | 0                                 |



These are the calculations for a 28 day Locum. If the locum midwife does not attend any births, they will receive \$200/day up to a maximum of \$5600.

| Number    | Fee   | Locum CC fee paid by MPG (BCC                  | Locum block           | Total earnings for Locum |
|-----------|-------|--|-----------------------|--------------------------|
| of births | level | minus 2 <sup>nd</sup> fee and operational fee) | incentive fee paid by | Midwife (LCC+LBI)        |
|           |       | "LCC"  | AOM "LBI"             |                          |
| 1         | 2     | 2901 - (214+744) = 1943                        | 5600                  | 7543                     |
| 1         | 3     | 3010 - (214+744) = 2052                        | 5600                  | 7652                     |
| 1         | 4     | 3121 - (214+744) = 2163                        | 5600                  | 7763                     |
| 1         | 5     | 3231 - (214+744) = 2273                        | 5600                  | 7873                     |
| 1         | 6     | 3417 - (214+744) = 2459                        | 5600                  | 8059                     |
|           |       |  |                       |                          |
| 2         | 2     | 3886 (LCC x 2)                                 | 3886                  | 7772                     |
| 2         | 3     | 4104   | 4104                  | 8208                     |
| 2         | 4     | 4326   | 4326                  | 8652                     |
| 2         | 5     | 4546   | 4546                  | 9092                     |
| 2         | 6     | 4918   | 4918                  | 9836                     |
|           |       |  |                       |                          |
| 3         | 2     | 5829 (LCC x 3)                                 | 1943                  | 7772                     |
| 3         | 3     | 6156   | 2052                  | 8208                     |
| 3         | 4     | 6489   | 2163                  | 8652                     |
| 3         | 5     | 6819   | 2273                  | 9092                     |
| 3         | 6     | 7377   | 2459                  | 9836                     |
|           |       |  |                       |                          |
| 4         | 2     | 7772 (LCC x 4)                                 | 0                     | 7772                     |
| 4         | 3     | 8208   | 0                     | 8208                     |
| 4         | 4     | 8652   | 0                     | 8652                     |
| 4         | 5     | 9092   | 0                     | 9092                     |
| 4         | 6     | 9836   | 0                     | 9836                     |